A B A — M F—ELIEERK

RRER :68F
[R47F—] £ & & R 38138 (1)~148(A)<FEH 38208 (1)HA>
ezt 38130 (1)9:30~LEEEIE (8:30&4~FEIEEEIBE)
(MEDBSFZAIZIBE) 0 >:<15§J§atryﬁ?>b—£§€§;é%—mk%ﬂ:
3 AM : SELVEK IS
1 AERA BE: EBETFVF
13E| (AE) 11 :30 9 >< Eiﬁﬁﬁ?’ﬁ‘ﬂ#?ﬂﬁﬁﬁ’ﬁ‘)
2 2086 =
148 (AE)9:30 1
3% M@ 1
13H (A@E) 13:00 :
4" XK 6 2 B
148 (AH) #ERBFE T 305 #% A0
5 i & 3 (B - Hy T E)
138 (BE) 12:00 1
6 /I N 5
14B (A@E)11:00 0
7 HEEB 1
138 (Bm) 13:30 17
52
8 ijt 3 8
[(ADv—] = &:E H(A/HEHKS) BAf B 38208 (£)MBE~21H(H)
4 J:.db £ULEABE<EE>G) <FEB:38278 (1) >
RN 10
FE 25 (F Bk IS) _
20H 12:00
2 BEE ——1L
FEER (H /EBkS)
20H 9:00 8
3 E& %B 4 TEER(E/EKS)
21H 9:30
48 % 0
FEER (H /BBkS) .
20H 10:30
5 2 0 8 7 B %
FEER (A /EEkS) st o IAs
21H BRBHET 307 (IOFBREEEBOS)
6 & [£3] 9 (BRI -HyTE)
& ALEL2EG) .
7N 1
FEER (H/HBKS) .
21H 11:00
8 8 &
tEALELAEG) 10:30

20H




